Name: Score:
- @dentifying Graphg M2
Choose the correct graph that best describes the solution for each inequality.
1) =13x+ 11 < -24x 2) -10x+15=35
a) <+ttt a) ——+—+—+—++-ot++t+t+t+1>
-4 -2 0 2 4 6 8 -8 6 4 2 0 2 4
b) <«—+—+—+—"+—+++"4"4A"1"4> b) <+—+—+—"t—4—A—4—4—t+—++1>
-4 -2 0 2 4 6 8 8 6 4 2 0 2 4
0 ¢t
-2 0 2 4
d) —t+—+—+—+++>
-2 0 2 4
3) .‘r
-16 -8 0 8
b) e e e e
-16 -8 0 8
9 Gain complete access to the largest >
. . . -16 -8 0 8
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5) Not 2 members
, Please sign up to
————=—
qdain CQmP]ete 12 24 36 48
b) dccess, R o e
12 24 36 48
0 — >
12 24 36 48
d) www.mathworksheets4kids.com U S
2 24 36 48
7) -2=7x-30 8) 5x+28<13
a) < > a) 4+ttt
-16 -8 0 8 16 24 32 -12 6 0 6 12 18 24
b) <«—+—+—+—++-o+"+"t+++"1"1> b <«++4+o—4+—+—++++++1+>
-16 -8 0 8 16 24 32 -12 -6 0 6 12 18 24
o <A+ttt o Attt 11>
-16 -8 0 8 16 24 32 -12 6 0 6 12 18 24
d <A+ttt d <«—+—+—+o+t+tt+ttt"tt
-16 -8 0 8 16 24 32 -12 -6 0 6 12 18 24
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